Revision questions
(35 marks; 35 minutes)
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Use the data in Table 34.1 to identify two
countries that became more attractive as
manufacturing locations between 2004 and
2014. Briefly explain your answer.

Explain why locating a factory inside a
trading bloc may boost forecasted returns on
investment for a business.

From Figure 34.1, calculate the percentage
that staff costs represent of all Jaguar Land
Rover's costs.

Assess why a decision by the UK to leave the
EU might lead to some UK factory closures.
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State three costs of production a firm may
hope to lower by relocating production from

the UK to a less economically developed nation.

List three trading blocs.

State three scrvioes that would be included as
part of the term infrastructure.

State three factors that affect the ease of
doing business in a particular country.

State three possible incentives governments
may offer companies considering building a
new factory.
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